N

)

@ (0,2)

® (-1,-1)

2 14)
3,9

@ (-3.7)

-

ull
&0

A

-

ul
0]

e

ul
KO

y=ax>-27} AYURE 7 = 9a — 2,a = 1 ©|t}.

iy

o

o

|

I

(o]

|

()]

I

.

o
o]

o &, oM

\l/_O

~/,2 __
o =

— ) =

" o ©

ot
It

L
16
_Hy
9




o}
mmo
ﬂo
me
=l
—
ﬁ/.
W
ol 5
0
Bt
e
o %%
_z_.v_ﬂ o
N
mo =
=
™ o
)3
O
o v
et
TR
o
i WP
=S
o &
2x !
fc
I 2
=~ 1o

2
@)-1 ® 0 @1

@ -2

)
A
l_l
nu}
T
|
2o
Rl
a4+
s
pes
2a,nﬂ
_/2\__
I
PN




=ax’+bx+c IHT7T A1, 3, AAEHE I & dlf, g, b, ¢

of %7} vtz AAjo] 7 ALY

D a>0,b>0,c>0 @ a>0,b>0,c<0

® a<0,b<0,c<0 @ a<0,b<0,c>0

@a<0,b>0,c<0
S5

Al 2442

Y

A2 A1) oW ohe e met 2t




x+ 19 27t JHR 2 W a, b, a+b+1 9

y}\

/
/O

Uy I .

/
HV

D a>0,b<0,a+b+1>0
@ a>0,b<0,a+b+1<0
® a<0,b<0,a+b+1<0
@ a<0,b>0,a+b+1<0

@a<0,b>0,a+b+l>0

S5 ~
Je ol 92 BESnR 4<(

Zo] y £9] gZof 9long ¢ 9 p O] H ok irfolct, webA
b >0 oJtt.

x=1¥4™,a+b+1>00°]}







ZEHA y=2x2-b5x—12 9 T} x =1} w AL
fm,_BBl 01 oozt

> =

Somee 1

y =222~ 5x— 12 ©] T mS} x ZThe] WHO HE
5x—12 = 0 9] 27} 2},
22 -5x—-12=0,

(2x+3)(x-4) =0,

x:—;E%xzél,
— 3) 11
AB_4_(_§ =3

= 2x% -










9.

OJAFR y = ax® +bx+c O] A EF ThE 1T F2 o, o] Atek
y=cx?+ax+b 9 Do HAHL2 A D AMEH =7

’yl\

&\V

oL

@ A AR @ A2 AHEH ® A3 AHEd
@) A A2 ® ol gitt.

B

a<0, ¢>0, —2£<0°ﬂ/\1b<0:. a<0,b<0,¢c>0
a

y=cx? +ax+b oA
(1)c>0olBg ofdjz BE
(2) ZAHE x HEE FolH

2 2
y:c(x2+c—lx+a——a >+b
c

42 4c2
a\2 a2 polmz
=c(vtgg) -~ g T2
- a
= _2_c>0

By EH 1 b<0

webA, D Z= th 1Y Zoug B2 A4AREH
=t

X,




